mathrm a'N

mathrm d N / mathrm d pmathrm d p

mathrm d lambda

Ratio to CMS

H
N
o

=
N
o

200

(0]
o

T

(o))
o

N
o

N
o

p)

N

[EEY

0.5

13000 GeV pp Jets
[ T I T I T I T I T | T I T I I I T _l_ 9
— 15
o Multiplicity A_0° (CMS jet substructure) 13
L —H{=
o m CMS o
— —&— Pythia 8.308 default —/ N
[ —+— Pythia 8.308 default-noCR i
- -
— —
o =
B e
- {o
o™
— <
- 1™
O
- —q O
™
- —
L .=
X
- =
B 1<
= 4o
| |1 <
@
- — 9
[%)]
B 12
— < - O
| | o
i \ — . - , 1 £
— —2
1
a —0.5
l . | . . l
0 50 100

multiplicity



	Contents
	Page 1


